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N 1,835,975 0 1,835,975
= 325,868 146,275 179,593
o 4,277,433 3,606,469 610,964
HdSAE SZIHAA 424,090 414,810 9,280
= 110,600 106,600 4,000
o 313,490 308,210 5,280
HEANY Zdat 134,480 125,200 9,280
& 8,600 4,600 4,000
T 125,880 120,600 5,280
201 et ] 30,000 30,000 0
== 8,000 4,000 4,000
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Ea 9,880 600 9,280
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ONSAIE SHHSH XA
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o 9,880 600 9,280
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2 1,070,000 0 1,070,000
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N 765,975 0 765,975
< 178,728 0 178,728
= 401,598 0 401,598
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Xl 765,975 0 765,975
[ 178,728 0 178,728
= 401,598 0 401,598
02 QI X2 AL EE (01X THE) 1,346,301 0 1,346,301
OXNLENSTEEZ KI(SE8H)
1,346,301,000& 1,346,301 0 1,346,301
Xl 765,975 0 765,975
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= 7,921 4,779 3,142
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13 SI 2SS X A=A 0 33,700 A\33,700
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NASSH g LSS/ L) 606,904 622,517 A15,613
N 22,500 32,250 A9,750
= 258,812 255,647 3,165
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A2 XHBN 243t 426,441 441,554 A15,113
N 22,500 32,250 29,750
< 258,812 255,647 3,165
= 145,129 153,657 18,528
NASSH LRI (R EAL) 388,941 377,304 11,637
= 252,812 245,247 7,565
= 136,129 132,057 4,072
101 Q144 384,941 373,304 11,637
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Xl 11,250 6,000 5,250
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Xl 0 15,000 15,000
= 0 5,625 Nb,625
i 0 13,125 A13,125
307 212+01™ 0 33,750 A33,750
Xl 0 15,000 A 15,000
== 0 5,625 Nb,625
= 0 13,125 213,125
02 QI HAANEE X 0 33,750 A33,750
OZg AMeHN & FEHRE ZZHE
el 0 0 33,750 A33,750
Xl 0 15,000 A 15,000
== 0 5,625 Nb,625
[ia 0 13,125 A13,125
FLsiots 43t 79,866 80,366 2500
Z=2s0E 2% 79,866 80,366 A500
203 R =& 500 1,000 A500
03 AR =X R =LH| 500 1,000 A500
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AFADIBIAIE EE(IELXSIHL/AAEHX) 1,550,084 1,312,084 238,000
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98,000,000 98,000 0 98,000
AHHDIEFAIE EBI 978,464 978,464 0
< 87,000 0 87,000
i 891,464 978,464 87,000
201 ¢Bt2] 378,264 378,264 0
< 87,000 0 87,000
= 291,264 378,264 87,000
01 AtR2t2lt] 320,000 320,000 0
P 310,000 310,000 0
- eMAE] S2HA 28X
130,000,000 130,000 130,000 0
< 29,000 0 29,000
= 101,000 130,000 £29,000
-NMelssHI S2HAa 22X
170,000,000 170,000 170,000 0
[ 58,000 0 58,000
i 112,000 170,000 A58,000
272 JIHEZNEA 150,000 150,000 0
< 20,000 45,000 25,000
= 130,000 105,000 25,000
401 AlEBIYL S THYI 150,000 150,000 0
< 20,000 45,000 ~25,000
= 130,000 105,000 25,000
01 Al&HI 150,000 150,000 0
ONels3EXl 2=HelAld ZHl At
150,000,000 150,000 150,000 0
= 20,000 45,000 225,000
s 130,000 105,000 25,000
WP S (LRI ZM L) (REL RSN/ AAEHI]) 78,858 0 78,858
SEXE(L X2 ZH) 78,858 0 78,858
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01 2DEXIPHEZ 49,061 0 49,061
O=12xs FHLN Bhy
49,061,000& 49,061 0 49,061
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